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This is 16362 of Calculus for Business, taught by Jeff E Lewis.
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You received 0 out of 5 possible points (not including any ungraded questions). Your final grade is 0%.

Question

1i

Find the slope of the line joining the points (-1, 2) and (3, -3).

r-A
L_a

Your answer: i None Given

Correct answer: -5
HA
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Find the slope and vy intercept of the line 3 y + 2x = 21.

1 r1 e
Slope =iand y intercept: (L4,14)

Your answer: i None Given

Correct answer: - .
i Slope = 32 and y intercept: (0,7)

Find the equation of the line that passes throught  he points (1, -2) and (-1, 6).

ra

The equation of the line is y = ...

Your answer: i None Given

Correct answer: The equation of th

elineisy=-4x+2.

Since the beginning of the year, the price of whole
has been rising at a constant rate of 2 cents per m
$1.41 per loaf. Express the price of the bread as a
bread (in dollars) at the beginning of the year.

Your Answer: I

Your answer: i None Given

wheat bread at a local discount supermarket
onth. By September first, the price had reached
function of time and determine the price of

Correct answer: | 1.25

Let L be the line 6 x + 5y = 15. Find the equation of a line L2 perpendicular to L through Q(5, -5).

Your answer: i None Given

Correct answer: i C
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